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Integral S,ch vs a,ch for Si 3 Run10009a
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Carbon mass vs Energy for Si 3 Run10009a
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T,ch vs 1/SQRT(a) for Si 4 Run10009a
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Integral S,ch vs a,ch for Si 4 Run10009a
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Carbon mass vs Energy for Si 4 Run10009a

14

12

10

- —— Amplitude, alpha cal.
- ——  Amplitude, slope

4 = — Integral, alpha cal.

- Integral, slope

B —— Both ampl. and Int., equal weighfts, slope

0
300 400 500 600 /700 800 900 1000 1100 1200

coef(4)+ecorr.flaxcalcoef(4)*1.0,rdlay((4—=1)/12+1)))*(2.368+30.0x(t—t0(4))/15.0)**x2 /9314




Mass width fit for Si 4 Run10009¢

0.26 = '’ /ndb.8978E-02/ 87
- P 3968
I P2 1.902
P3 1839
0.24 |- 0O
0.22
02
0.18
OW@ 7\ ‘ I | ‘ I ‘ I ‘ I ‘ I ‘ I I ‘ I ‘ I ‘ I I ‘\

500 400 500 000 /700 800 900 1000 1100 1200




T,ch vs 1/SQRT(a) for Si 5 Run10009a
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Integral S,ch vs a,ch for Si 5 Run10009a
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Carbon mass vs Energy for Si 5 Run10009a
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T,ch vs 1/SQRT(a) for Si 6 Run10009a
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Integral S,ch vs a,ch for Si 6 Run10009a
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Carbon mass vs Energy for Si 6 Run10009a
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T,ch vs 1/SQRT(a) for Si 9 Run10009a
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Integral S,ch vs a,ch for Si 9 Run10009a
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Carbon mass vs Energy for Si 9 Run10009a
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T,ch vs 1/SQRT(a) for Si 10 Run10009a
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Integral S,ch vs a,ch for Si 10 Run10009a
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Carbon mass vs Energy for Si 10 Run10009a
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T,ch vs 1/SQRT(a) for Si 16 Run10009a
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Carbon mass vs Energy for Si 16 Run10009a
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Carbon mass vs Energy for Si 17 Run10009a
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T,ch vs 1/SQRT(a) for Si 18 Run10009a
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Integral S,ch vs a,ch for Si 18 Run10009a
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Integral S,ch vs a,ch for Si 19 Run10009a
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Carbon mass vs Energy for Si 19 Run10009a
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T,ch vs 1/SQRT(a) for Si 20 Run10009a
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Carbon mass vs Energy for Si 20 Run10009a
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T,ch vs 1/SQRT(a) for Si 27 Run10009a
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Integral S,ch vs a,ch for Si 27 Run10009a
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Carbon mass vs Energy for Si 27 Run10009a
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T,ch vs 1/SQRT(a) for Si 28 Run10009a
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Integral S,ch vs a,ch for Si 28 Run10009a
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Carbon mass vs Energy for Si 28 Run10009a
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T,ch vs 1/SQRT(a) for Si 29 Run10009a
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Integral S,ch vs a,ch for Si 29 Run10009a

4500

4000

5500

5000

2500

2000

1500

1000

160

140

120

100

80

60

40

20

s VS. @




Carbon mass vs Energy for Si 29 Run10009a
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T,ch vs 1/SQRT(a) for Si 30 Run10009a
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Integral S,ch vs a,ch for Si 30 Run10009a
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Carbon mass vs Energy for Si 30 Run10009a
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Integral S,ch vs a,ch for Si 33 Run10009a
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Carbon mass vs Energy for Si 33 Run10009a
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Integral S,ch vs a,ch for Si 34 Run10009a
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Carbon mass vs Energy for Si 34 Run10009a
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T,ch vs 1/SQRT(a) for Si 39 Run10009a
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Integral S,ch vs a,ch for Si 39 Run10009a
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Carbon mass vs Energy for Si 39 Run10009a
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T,ch vs 1/SQRT(a) for Si 40 Run10009a
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Integral S,ch vs a,ch for Si 40 Run10009a
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Carbon mass vs Energy for Si 40 Run10009a
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Mass width fit for Si 40 Run10009a
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T,ch vs 1/SQRT(a) for Si 41 Run10009a
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Integral S,ch vs a,ch for Si 41 Run10009a
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Mass width fit for Si 41 Run10009a
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T,ch vs 1/SQRT(a) for Si 42 Run10009a
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Integral S,ch vs a,ch for Si 42 Run10009a
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Carbon mass vs Energy for Si 42 Run10009a
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Mass width fit for Si 42 Run10009a
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T,ch vs 1/SQRT(a) for Si 45 Run10009a
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Carbon mass vs Energy for Si 45 Run10009a
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T,ch vs 1/SQRT(a) for Si 46 Run10009a
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Carbon mass vs Energy for Si 46 Run10009a
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Mass width fit for Si 46 Run10009a
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T,ch vs 1/SQRT(a) for Si 52 Run10009a
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Integral S,ch vs a,ch for Si 52 Run10009a
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Carbon mass vs Energy for Si 52 Run10009a
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T,ch vs 1/SQRT(a) for Si 53 Run10009a
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Integral S,ch vs a,ch for Si 53 Run10009a
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Carbon mass vs Energy for Si 53 Run10009a
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T,ch vs 1/SQRT(a) for Si 54 Run10009a
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Integral S,ch vs a,ch for Si 54 Run10009a
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Carbon mass vs Energy for Si 54 Run10009a
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T,ch vs 1/SQRT(a) for Si 55 Run10009a
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Integral S,ch vs a,ch for Si 55 Run10009a
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Mass width fit for Si b5 Run10009a
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T,ch vs 1/SQRT(a) for Si 56 Run10009a
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Integral S,ch vs a,ch for Si 56 Run10009a
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Carbon mass vs Energy for Si 56 Run10009a
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T,ch vs 1/SQRT(a) for Si 64 Run10009a
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Integral S,ch vs a,ch for Si 64 Run10009a
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Carbon mass vs Energy for Si 64 Run10009a
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T,ch vs 1/SQRT(a) for Si 65 Run10009a
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Integral S,ch vs a,ch for Si 65 Run10009a
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Carbon mass vs Energy for Si 65 Run10009a
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Mass width fit for Si 65 Run10009a
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T,ch vs 1/SQRT(a) for Si 66 Run10009a
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Integral S,ch vs a,ch for Si 66 Run10009a
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Carbon mass vs Energy for Si 66 Run10009a
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T,ch vs 1/SQRT(a) for Si 69 Run10009a
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Integral S,ch vs a,ch for Si 69 Run10009a
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Carbon mass vs Energy for Si 69 Run10009a
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Mass width fit for Si 69 Run10009a
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ie T,ch vs 1/SQRT(a) for Si 70 Run10009a
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Integral S,ch vs a,ch for Si /7O Run10009a
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Carbon mass vs Energy for Si 70 Run10009a
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